Bid #432-11156 - Tapping Sleeves, Stainless Steel

Creation DateJan 23, 2013Start DateJan 23, 2013 11:20:00 AM EST

End DateFeb 8, 2013 2:00:00 PM ESTAwarded DateNot Yet Awarded

432-11156-01-01 6" X 4" SS Tappin	g Sleeve				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
HD Supply Waterworks, Ltd.	First Offer - \$360.00	10 / each	\$3,600.00		Y
Product Code: Agency Notes:		Supplier Product Supplier Notes: M	ode: nufacturer: Smith Blair \$3,800.00 Y		
Ferguson Enterprises Inc.	First Offer - \$380.00	10 / each	\$3,800.00	Y	Y
Product Code: Agency Notes:		Supplier Product Supplier Notes: M		ас	
Corcel Corp.	First Offer - \$506.55	10 / each	\$5,065.50		Y
Product Code: Agency Notes:		Supplier Product Supplier Notes: M	Code: Ianufacturer: POW	ERSEAL	

432-11156-01-02 6" X 6" SS Tapping Sleeve							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
HD Supply Waterworks, Ltd.	First Offer - \$385.00	50 / each	\$19,250.00		Y		
Product Code: Agency Notes:		Supplier Product Supplier Notes: M	Code: lanufacturer: Smith Blair				
Ferguson Enterprises Inc.	First Offer - \$390.00	50 / each	\$19,500.00		Y		
Product Code: Agency Notes:		Supplier Product Supplier Notes: N	,				
Corcel Corp.	First Offer - \$587.57	50 / each	\$29,378.50		Y		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Manufacturer: POWERSEAL					

432-11156-01-03 8" X 4" SS Tapping Sleeve								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
HD Supply Waterworks, Ltd.	First Offer - \$380.00	5 / each	\$1,900.00		Y			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Manufacturer: Smith Blair						
Ferguson Enterprises Inc.	First Offer - \$390.00	5 / each	\$1,950.00		Y			
Product Code: Agency Notes:		Supplier Product Supplier Notes: N	1 1 1 1 1 1 1					
Corcel Corp.	First Offer - \$553.99	5 / each	\$2,769.95		Y			
Product Code: Agency Notes:		Supplier Product Supplier Notes: M	Code: Ianufacturer: POWI	ERSEAL				

432-11156-01-04 8" X 6" SS Tapping Sleeve								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
HD Supply Waterworks, Ltd.	First Offer - \$412.00	25 / each	\$10,300.00		Y			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Manufacturer: Smith Blair						
Ferguson Enterprises Inc.	First Offer - \$425.00	25 / each	\$10,625.00		Y			

		Supplier Product Code: Supplier Notes: Manufacturer: Romac			
Corcel Corp.	First Offer - \$632.38	25 / each	\$15,809.50		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Manufacturer: POWERSEA		ERSEAL	

432-11156-01-05 8" X 8" SS Tapping Sleeve									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
HD Supply Waterworks, Ltd.	First Offer - \$525.00	20 / each	\$10,500.00		Y				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Manufacturer: Smith Blair							
Ferguson Enterprises Inc.	First Offer - \$555.00	20 / each	\$11,100.00		Y				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Manufacturer: Romac							
Corcel Corp.	First Offer - \$790.25	20 / each	\$15,805.00		Y				
oduct Code: Supplier Pro		Supplier Product Supplier Notes: M	Code: Manufacturer: POW	ERSEAL					

432-11156-01-06 10" X 4" SS Tapping Sleeve									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
HD Supply Waterworks, Ltd.	First Offer - \$410.00	1 / each	\$410.00		Y				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Manufacturer: Smith Blair		n Blair					
Ferguson Enterprises Inc.	First Offer - \$430.00	1 / each	\$430.00		Y				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Manufacturer: Romac		ас					
Corcel Corp.	First Offer - \$577.30	1 / each	\$577.30		Y				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Manufacturer: POWERSEAL							

432-11156-01-07 10" X 6" SS Tapping Sleeve								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
HD Supply Waterworks, Ltd.	First Offer - \$445.00	5 / each	\$2,225.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes: Manufacturer: Smith Blair						
Ferguson Enterprises Inc.	First Offer - \$450.00	5 / each	\$2,250.00		Y			
Product Code: Agency Notes:		Supplier Product Supplier Notes: N	Code: Ianufacturer: Roma	ас				
Corcel Corp.	First Offer - \$622.58	5 / each	\$3,112.90		Y			
Product Code: Agency Notes:		Supplier Product Supplier Notes: M	Code: Ianufacturer: POWI	ERSEAL				

432-11156-01-08 10" X 8" SS Tapping Sleeve								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Ferguson Enterprises Inc.	First Offer - \$555.00	2 / each	\$1,110.00		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Manufacturer: Romac						
				I				

HD Supply Waterworks, Ltd.	First Offer - \$565.00	2 / each	\$1,130.00		Y	
		Supplier Product Code: Supplier Notes: Manufacturer: Smith Blair				
Corcel Corp.	First Offer - \$845.55		\$1,691.10		Y	
Product Code: Agency Notes:		Supplier Product Supplier Notes: N	Code: Ianufacturer: POWERS	SEAL		

432-11156-01-09 10" X 10" SS Tap	ping Sleeve				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
HD Supply Waterworks, Ltd.	First Offer - \$770.00	3 / each	\$2,310.00		Y
Product Code: Agency Notes:		Supplier Product Supplier Notes: I	: Code: Manufacturer: Smi		
Ferguson Enterprises Inc.	First Offer - \$775.00	3 / each	\$2,325.00		Y
Product Code: Agency Notes:		Supplier Product Supplier Notes: I	: Code: Manufacturer: Rom	nac	
Corcel Corp.	First Offer - \$1,063.82	3 / each	\$3,191.46		Y
Product Code: Agency Notes:		Supplier Product Supplier Notes: I	: Code: Manufacturer: POV	VERSEAL	

432-11156-01-10 12" X 4" SS Tapping Sleeve							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
HD Supply Waterworks, Ltd.	First Offer - \$430.00	1 / each	\$430.00		Y		
Product Code: Agency Notes:		Supplier Product Supplier Notes: N	Code: Ianufacturer: Smith	n Blair			
Ferguson Enterprises Inc.	First Offer - \$500.00	1 / each	\$500.00		Y		
Product Code: Agency Notes:		Supplier Product Supplier Notes: N					
Corcel Corp.	First Offer - \$615.05	1 / each	\$615.05		Y		
Product Code: Agency Notes:		Supplier Product Supplier Notes: N	Code: lanufacturer: POWI	ERSEAL			

432-11156-01-11 12" X 6" SS Tapping Sleeve						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
HD Supply Waterworks, Ltd.	First Offer - \$455.00	5 / each	\$2,275.00		Y	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes: Manufacturer: Smith Blair				
Ferguson Enterprises Inc.	First Offer - \$515.00	5 / each	\$2,575.00		Y	
Product Code:	Supplier Product Code:					
Agency Notes:		Supplier Notes: Manufacturer: Romac				
Corcel Corp.	First Offer - \$667.39	5 / each	\$3,336.95		Y	
Product Code:		Supplier Product	Code:			
Agency Notes:		Supplier Notes: Manufacturer: POWERSEAL				

432-11156-01-12 12" X 8" SS Tapping Sleeve							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
HD Supply Waterworks, Ltd.	First Offer - \$575.00	5 / each	\$2,875.00		Y		
Product Code: Agency Notes:		Supplier Product Supplier Notes: M	Code: Ianufacturer: Smith	n Blair			

Ferguson Enterprises Inc	First Offer - \$665.00	5 / each	\$3,325.00	Y
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes: Manufacturer: Ro			I
5 5				
Corcel Corp.	First Offer - \$880.14	5 / each	\$4,400.70	Y

432-11156-01-13 12" X 10" SS Tapping Sleeve						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
HD Supply Waterworks, Ltd.	First Offer - \$810.00	1 / each	\$810.00		Y	
Product Code: Agency Notes:		Supplier Product Supplier Notes: N	ct Code: : Manufacturer: Smith Blair			
Ferguson Enterprises Inc.	First Offer - \$850.00	1 / each	\$850.00		Y	
Product Code: Agency Notes: Supplier Product Code: Supplier Notes: Manufact				nac		
Corcel Corp.	First Offer - \$1,148.40	1 / each	\$1,148.40		Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Manufacturer: POWERSEAL				

432-11156-01-14 12" X 12" SS Tap	ping Sleeve				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
HD Supply Waterworks, Ltd.	First Offer - \$845.00	1 / each	\$845.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Manufacturer: Smith Blair			
Ferguson Enterprises Inc.	First Offer - \$1,025.00	1 / each	\$1,025.00		Y
Product Code: Agency Notes:				nac	
Corcel Corp.	First Offer - \$1,670.84	1 / each	\$1,670.84		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Manufacturer: POWERSEAL			

Supplier Total	s			
HD Supply W	/aterworks, Ltd.		\$58,860.00	(14/14 items)
Bid Contact	Susan Helms <u>susan.helms@hdsupply.com</u> Ph 407-893-9002 Fax 407-893-7376	Address	501 W. Church Street Orlando, FL 32805	
Supplier Code	00023494			
Agency Notes	::	Supplier	Notes:	
Ferguson En	terprises Inc.		\$61,365.00	(14/14 items)
Bid Contact	Jason A Mueller jason.mueller@ferguson.com Ph 954-973-8100	Address	2361 NW 22nd Street Pompano Beach, FL 33069	
Supplier Code	00000137			
Agency Notes	::	Supplier	Notes:	
Corcel Corp.			\$88,573.15	(14/14 items)
Bid Contact	Ray Corona paula@corcelcorp.com	Address	2461 NW 23rd Street Miami, FL 33142	

Ph 305-636-1880 Fax 305-636-1897 Supplier Code 00016631 Qualifications DBE MBE Agency Notes:

Supplier Notes:

* *